
④ 7 0 × 2

0

＝

③ 7 × 2 0

＝ 1 4 0

② 7 0 × 2 0

① 7 × 2 0

・ 7×2＝14をもとにして、次のかけ算の積を求めましょう。

④ 3 0 × 6

0

③ 3 × 6 0 0 ＝

0 ＝ 1 8 0② 3 0 × 6

日にち：　　月　　日

名まえ

・ 3×6＝18をもとにして、次のかけ算の積を求めましょう。

① 3 × 6 0 ＝ 1 8 0

５

⑤ 定着

(うすい字はなぞりましょう。)

(うすい字はなぞりましょう。)



0

0 0

④ 7 0 × 2 ＝ 1 4

0

③ 7 × 2 0 0 ＝ 1 4

② 7 0 × 2 0

・ 7×2＝14をもとにして、次のかけ算の積を求めましょう。

① 7 × 2 0 ＝ 1 4

0

0

1

06 0

8 0

1 8

④ 3 × 6 ＝0

③ 3 × 6 0 0 ＝ 1 8

0

0

＝ 1 4 0

② 3 0 × ＝

日にち：　　月　　日

名まえ

・ 3×6＝18をもとにして、次のかけ算の積を求めましょう。

① 3 × 6 0 ＝ 1 8 0

５

⑤ 定着 答え

(うすい字はなぞりましょう。)

(うすい字はなぞりましょう。)


